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|[5Liva EFEZ P B TOTAL ouT , IN |[EYivg BEFZ B NET CHP GROSS (OUT IN)
1A BRE #E2F)11CC 73 37 ' 36 =2 =F EBERGC 68 9 77 (41 36)
2|EA shi% EEEREGC 76 37 1+ 39 (A L% EEERGC 68 8 76 (37 39)
3|MAR RRE SEPECC 76 37 1 39 AR RRE $EBIEICC 69 7 76 (37 39)
4= FF ZEEGC 77 41 ! 36 x| AR BRE HEEF|CC 70 3 73 (37 36)
5|=# EF Es&ECC 77 39 1 38 1|4b/E E=E =/CC 70 15 85 (42 43)
6|FEM RE IBHIEECC 80 40 | 40 2[&Hm & =mICC 70 16 | 86 (4343)
7|aR BE ZECC 81 | 41 , 40 3|HA NEF =/CC 70 18 | 88 (42 46)
8K B N\FHCC 82 | 43 ' 39 4| KM FF ZECC 71 13 | 84 (4341)
ILE ZF Else 82 | 40 1 42 S|ETE BE TECC 71 10 | 81 (41 40)
10|H:E HF AHIIGC 83 47 |, 36 6|BIR EHF &5 LHCC 71 13 84 (39 45)
11|55 EEF Ri&CC 83 | 41 ' 42 7|H2 HmF AHINIGC 72 11 | 83 (4736)
12|R%E EETF pisdlilee 83 40 1 43 8|FaAR #HED E/ICC 72 16 88 (44 44)
13| KM S¥EF RECC 84 | 43 | 41 9|8 =T Else 72 10 | 82 (40 42)
14[BK E/F R&E59L#CC 84 | 39! 45 | =W BT FBCC 73 4 77 (39 38)
15(F& fEF SEBERCC 85 43 1 42 10|3FfE HHET FE&CC 73 10 83 (41 42)
16[{tR E=E £/CC 85 | 42 , 43 11|EAR R HILBCC 73 15 | 88 (4246)
17(&EH T8 =/ICC 86 | 43 | 43 12[hAR Bx \FACC 74 8 82 (43 39)
18| AiEf SHEEF) 1 lCC 87 46 ' 41 13[IUAR =48 FEDEGC 74 14 88 (45 43)
19| B BF =rECC 87 | 44 . 43 14|E4E #hT SBECC 74 11 | 85 (43 42)
20|EAR FEF TREHTEECC 87 | 43 , 44 15[tk EREF TKECC 74 14 | 88 (43 45)
21|IIA St BOEGC 88 | 45 ' 43 N EYES S IREBHIEECC 75 5 80 (40 40)
22|FA #HED =/CC 88 | 44 1 44 17|=R HE [REEIRCC 75 15 | 90 (44 46)
23|k EET RBCC 88 | 43 |, 45 18|A)II BEFT EEBEACC 75 15 | 90 (44 46)
24|HHA NEF £/ICC 88 | 42 ! 46 19(NE BF £/ICC 76 11 | 87 (44 43)
25|18 KT E8ECC 88 42 1 46 20| fERE =/CC 76 14 90 (46 44)
26(EA L BLBCC 88 | 42 , 46 21| k% EBEF WAEF)1|CC 76 7 83 (40 43)
27|9K Ef £/ICC 90 | 46 ! 44 22| = HEFPIGR 77 14 | 91 (4546)
28|=BRE FE REBEBRCC 90 44 1 46 23| AR #EEF)|CC 78 9 87 (46 41)
9@ BHET =EEFCC 90 | 44 , 46 24|EXR FZEF IRBHIEECC 78 9 87 (43 44)
30|fEA EfC HEFPIGR 91 45 | 46 25|fAR Ef WEFPIGR 78 13 | 91 (4546)
31T = HEFPIGR 91 | 45 ' 46 26|1Z8 HE J\FACC 81 13 | 94 (43 51)
32|48 A= REERGC 93 | 44 1 49 27|#ER #HF RBCC 82 6 88 (42 46)
BUCH BB N\FfCC 94 | 43 | 51 28|#&)Il AE = BEREGC 86 7 93 (44 49)
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